PROPOSAL A (Old SR 65)

Bidder: Ward Construction Co.

\$582,804.10		TOTAL			
\$2,000.00	\$2,000.00	LUMP	_	Mobilization	624
\$2,000.00	\$2,000.00	LUMP	_	Maintaining Traffic	614
\$1,322.50	\$250.00	MILE	5.29	Temporary Centerlines	614
\$5,250.00	\$350.00	EACH	15	Formed Construction Joint	Special
\$263,145.00	\$79.50	TON	3,310	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$263,145.00	\$79.50	TON	3,310	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64- 22, As Per Plan	441
\$19,722.00	\$28.50	TON	692	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$26,219.60	\$2.20	GAL	11,918	Tack Coat (0.10 gal/sy) (2 applications)	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item

Bidder: The Shelly Company

\$643,439.50		TOTAL			
\$7,000.00	\$7,000.00	LUMP	_	Mobilization	624
\$10,000.00	\$10,000.00	LUMP	1	Maintaining Traffic	614
\$2,116.00	\$400.00	MILE	5.29	Temporary Centerlines	614
\$6,000.00	\$400.00	EACH	15	Formed Construction Joint	Special
\$287,142.50	\$86.75	TON	3,310	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$287,142.50	\$86.75	TON	3,310	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64- 22, As Per Plan	441
\$23,182.00	\$33.50	TON	692	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$20,856.50	\$1.75	GAL	11,918	Tack Coat (0.10 gal/sy) (2 applications)	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item

Bidder: Helms & Sons Excavating, Inc.

\$626,157.00		TOTAL			
\$9,000.00	\$9,000.00	LUMP	_	Mobilization	624
\$6,000.00	\$6,000.00	LUMP	_	Maintaining Traffic	614
\$4,232.00	\$800.00	MILE	5.29	Temporary Centerlines	614
\$3,750.00	\$250.00	EACH	15	Formed Construction Joint	Special
\$274,730.00	\$83.00	TON	3,310	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$281,350.00	\$85.00	TON	3,310	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64- 22, As Per Plan	441
\$17,300.00	\$25.00	TON	692	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$29,795.00	\$2.50	GAL	11,918	Tack Coat (0.10 gal/sy) (2 applications)	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item

PROPOSAL B (Road M)

Bidder: Ward Construction Co.

\$184,218.90		TION 2	UDING OP	TOTAL INCLUDING OPTION 2	
\$182,250.90		TION 1	UDING OP	TOTAL INCLUDING OPTION 1	
\$55,924.00	\$170.50	СҮ	328	Concrete for Widening, 8" Thick, 2' One Side (As Per Plan)	452
				WIDENING - OPTION 2	WIDENING
\$53,956.00	\$82.25	TONS	656	Bituminous Aggregate Base P.G. 64-22, 8" Thick, 2' One Side (Widening) (As Per Plan)	301
				WIDENING - OPTION 1	WIDENING
\$2,000.00	\$2,000.00	LUMP	_	Mobilization	624
\$1,000.00	\$1,000.00	LUMP	_	Maintaining Traffic	614
\$251.50	\$250.00	MILE	1.006	Temporary Centerlines	614
\$700.00	\$350.00	EACH	2	Formed Construction Joint	Special
\$57,038.00	\$79.00	TON	722	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$57,038.00	\$79.00	TON	722	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22	441
\$4,554.00	\$34.50	TON	132	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$5,713.40	\$2.20	GAL	2,597	Tack Coat (0.10 gal/sy) (2 applications)	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item

Bidder: Helms & Sons Excavating, Inc.

\$203,995.00		TION 2	UDING OP	TOTAL INCLUDING OPTION 2	
\$205,635.00		TION 1	UDING OP	TOTAL INCLUDING OPTION 1	
\$60,680.00	\$185.00	СҮ	328	Concrete for Widening, 8" Thick, 2' One Side (As Per Plan)	452
				WIDENING - OPTION 2	WIDENING
\$62,320.00	\$95.00	TONS	656	Bituminous Aggregate Base P.G. 64-22, 8" Thick, 2' One Side (Widening) (As Per Plan)	301
				WIDENING - OPTION 1	WIDENING
\$2,850.00	\$2,850.00	LUMP	_	Mobilization	624
\$1,950.00	\$1,950.00	LUMP	1	Maintaining Traffic	614
\$2,012.00	\$2,000.00	MILE	1.006	Temporary Centerlines	614
\$700.00	\$350.00	EACH	2	Formed Construction Joint	Special
\$61,370.00	\$85.00	TON	722	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$62,814.00	\$87.00	TON	722	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22	441
\$3,828.00	\$29.00	TON	132	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$7,791.00	\$3.00	GAL	2,597	Tack Coat	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item

PROPOSAL C (Road 20)

Bidder: Ward Construction Co.

\$239,066.20		TION 2	UDING OP	TOTAL INCLUDING OPTION 2	
\$238,649.20		TION 1	UDING OP	TOTAL INCLUDING OPTION 1	
\$112,221.00	\$168.50	СҮ	666	Concrete for Widening, 8" Thick, 4' One Side (As Per Plan)	452
				WIDENING - OPTION 2	WIDENING
\$111,804.00	\$84.00	TONS	1,331	Bituminous Aggregate Base P.G. 64-22, 8" Thick, 4' One Side (Widening) (As Per Plan)	301
				WIDENING - OPTION 1	WIDENING
\$3,000.00	\$3,000.00	LUMP	_	Mobilization	624
\$250.00	\$250.00	LUMP	1	Maintaining Traffic	614
\$1,021.00	\$1,000.00	MILE	1.021	Temporary Centerlines	614
\$700.00	\$350.00	EACH	2	Formed Construction Joint	Special
\$55,924.00	\$82.00	TON	682	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$55,924.00	\$82.00	TON	682	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22	441
\$4,623.00	\$34.50	TON	134	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$5,403.20	\$2.20	GAL	2,456	Tack Coat (0.10 gal/sy) (2 applications)	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item
				,	

Bidder: Helms & Sons Excavating, Inc.

\$257,316.00		TION 2	UDING OP	TOTAL INCLUDING OPTION 2	
\$259,888.00		TION 1	UDING OP	TOTAL INCLUDING OPTION 1	
\$119,880.00	\$180.00	СҮ	666	Concrete for Widening, 8" Thick, 4' One Side (As Per Plan)	452
				WIDENING - OPTION 2	WIDENING
\$122,452.00	\$92.00	TONS	1,331	Bituminous Aggregate Base P.G. 64-22, 8" Thick, 4' One Side (Widening) (As Per Plan)	301
				WIDENING - OPTION 1	WIDENING
\$3,400.00	\$3,400.00	LUMP	_	Mobilization	624
\$2,500.00	\$2,500.00	LUMP	_	Maintaining Traffic	614
\$2,042.00	\$2,000.00	MILE	1.021	Temporary Centerlines	614
\$800.00	\$400.00	EACH	2	Formed Construction Joint	Special
\$58,652.00	\$86.00	TON	682	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$60,016.00	\$88.00	TON	682	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22	441
\$3,886.00	\$29.00	TON	134	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$6,140.00	\$2.50	GAL	2,456	Tack Coat (0.10 gal/sy) (2 applications)	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item

Bidder: Ward Construction Co

PROPOSAL D (Road N)

Special Item 624 614 614 441 411 407 side), As Per Plan

1" Asphalt Concrete Surface Course, Type
1 (448), PG 64-22, As Per Plan

1" Asphalt Concrete Intermediate Course,
Type 1 (448), PG 64-22, As Per Plan Mobilization Maintaining Traffic Formed Construction Joint 2" Stabilized Crushed Aggregate (1' each Temporary Centerlines Tack Coat (0.10 gal/sy) (2 applications) Description Type 2,468 1.026 Qty. 686 686 135 ယ _ TOTAL LUMP LUMP MILE **EACH** NOT NOT NOT Unit GAL **Unit Cost** \$1,500.00 \$500.00 \$250.00 \$350.00 \$82.00 \$34.50 \$82.00 \$2.20 \$125,897.60 **Total Cost** \$56,252.00 \$56,252.00 \$1,500.00 \$1,050.00 \$4,657.50 \$5,429.60 \$500.00 \$256.50

Bidder: Helms & Sons Excavating, Inc.

\$134,129.00		TOTAL			
\$2,100.00	\$2,100.00	LUMP	_	Mobilization	624
\$700.00	\$700.00	LUMP	1	Maintaining Traffic	614
\$2,052.00	\$2,000.00	MILE	1.026	Temporary Centerlines	614
\$1,200.00	\$400.00	EACH	3	Formed Construction Joint	Special
\$58,310.00	\$85.00	TON	686	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	441
\$59,682.00	\$87.00	TON	686	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22, As Per Plan	441
\$3,915.00	\$29.00	NOT	135	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	411
\$6,170.00	\$2.50	GAL	2,468	Tack Coat (0.10 gal/sy) (2 applications)	407
Total Cost	Unit Cost	Unit	Qty.	Description	Item

Bidder:

	624 Mobilization	614 Maintaining Traffic	614 Temporary Centerlines	Special Formed Construction Joint	441 1" Asphalt Cond Type 1 (448), P	441 1" Asphalt Cond 1 (448), PG 64-	411 2" Stabilized Crush side), As Per Plan	407 Tack Coat (0.10	Item
		ffic	terlines	uction Joint	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22, As Per Plan	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	Tack Coat (0.10 gal/sy) (2 applications)	Description
	_	1	1.026	З	686	686	135	2,468	Qty.
TOTAL	LUMP	LUMP	MILE	EACH	TON	TON	TON	GAL	Unit
									Unit Cost
									Total Cost